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100355¢%

10035¢ =

100355%

10035¢ =

100355¢

10035¢ =

100355¢%

10035¢ =

100355¢%

10035t =

100355%
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100355¢&
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100355¢%

10035¢ =

100355¢%

10035¢ =

-1003559

-1003558

-1003557

-1003556

-1003555

-1003554

-1003553

-1003552

-1003551

-1003550

-1003549

-1003548

-1003547

-1003546

-1003545

-1003544

-1003543

-1003542

-1003541

-1003540
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29

30

31

32

33

34

35

36
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1003559

10035t =

1003559

10035t =

100355¢%

10035t =

100355¢

10035¢ =

100355¢

10035t =

1003559

10035t =

100355¢%

10035t =

100355%

10035¢ =

100355¢

10035t =

1003559
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1003559
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10035t = -1003516

100355¢ -1003515

10035t = -1003514

100355% -1003513

10035t = -1003512

100355¢% -1003511

10035t = -1003510

100355¢ -1003509
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